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Torque on a Beam II 
 

 

 

 

Problem: A person of mass 60 kg is walking down a 10 m, 100 kg beam supported 

by two pillars, one at the head of the beam and one 3m away from the center of the 

beam as shown below. 
 

 
 

How far down the beam can the person walk before the beam begins to tip? 

[Consider the origin to be the left end of the beam.] 

[1] 0 m  

[2] 2 m 

[3] 2.5 m 

[4] 6.67 m 

[5] To the end of the beam 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Solution: 

 

 
 

τnet = τperson + τnet beam 

 

τnet = 1200 N-m + [-3000 N-m] 

 

τnet = -1800 N-m 

 

 

Beam is unstable! 

 

 

 

 
 
 
 
 

 


